N & 0 & g 9 A A
2018 &= 20l & L BHSH 2 AMA
S A
M el ZAME 29
Sl BEIIY = (S &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
EAPNEN 54,876 59,201 N4,325
gdel 2AHE 29 42,692 46,849 N4, 157
S| =g 42,692 46,849 N4 157
ZAES = 38,522 42,349 N 3,827
201 et A | 14,576 15,980 A 1,404
01 AFR2t2l Yl 14,576 15,980 N 1,404
Os, Nt 5 SE2ZAL 24
8,000& x5 x30 *90% 1,080
OAIZI S X AIE 2ZAF 24
8,000& x5% x10JH A 32 *90% 1,080
OFxcan g8 HE 100& x5, 0000H 500
OFE=E=EE H& 900,000& 900
OFEZENE 4,500,000 4,500
OB NIStsAIAE 29
110, 000 & *243| *90% 2,376
OZAMEDN HE S 2,340,000 2,340
OF0MAH 24 1,800,000& 1,800
202 04| 7,872 10,240 N2,368
01 2LHOHI 7,872 10,240 N 2,368
OZE L ZAES 5,952
S, Aga S B2 A
20,0003 *5H *30! *80% 2,400
- AMSEXAE 2ZAE
20,0003 5% *10JH A *3 2 *80% 2,400
2ZE Y TA 20,0003 *2H x32 « 122 *80% 1,152
o=td=& 20,0003 *»2H x5 « 122 *80% 1,920
203 PR =&lY| 2,716 3,000 N 284
03 A=A SR =AH| 2,716 3,000 N 284
OZA SRF=X 2,250,000& 2,250
OFR0ZAIZE 2 466,000& 466
301 dBEtE A= 1,211 1,150 61
1M IIEtE &2 1,211 1,150 61
ORI 2AHENH 24 270,330& *33| 811
ORUZAZ 2ZPAFEN 24 50,0003 *12 x8H 400
303 ZAZ 3,200 3,200 0
01 ZAZ 3,200 3,200 0]
O=RXc2dn 24 1,000,000& 1,000
OLA RBSSFE S Al& 70,000& *10H 700
OFg0td el Xl Al &t 1,500
2N AlY 1,200
- XSRS 300,000& 20 £ A 600
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